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(chap4-R-1.R)

library(openxIsx)
library(stargazer)
library(car)

sample1<-read.xlsx("http://kanggc.iptime.org/data/pitcher.xlsx")

money<-sample1 $SMONEY
win<-sample1$WIN
four<—sample1$FOUR
save<-sample1$SAVE
lose<—-sample1$LOSE
year<-sample1$YEAR

ols1<-Im(money~win+four+save+lose+year)
summary(ols1)

jointHo<—c("four","lose")
linearHypothesis(ols1, jointHo)

ols2<-Im(money~win+save+year)
summary(ols2)

stargazer(ols1, ols2, type="text")

new<—data.frame(win=14, save=5, year=10)
predict(Im(money~win+save+year), new, se.fit=T)

pred.w.clim<-predict(Im(money~win+save+year), new, interval="confidence")
pred.w.clim

pred.w.plim<-predict(Im(money~win+save+year), new, interval="prediction")
pred.w.plim
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CPl &5 E(%) 0.25 0.6
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library(openxIsx)
library(stargazer)

sample1<-read.xIsx("http://kanggc.iptime.org/data/quarter.xIsx")

mi<-ts(sample1$mi, start=c(1986, 4), frequency=4)
gdp<-ts(samplei1$gdp, start=c(1986, 4), frequency=4)
cpi<-ts(sample1$cpi, start=c(1986, 4), frequency=4)
r<—ts(sample1$r, start=c(1986, 4), frequency=4)

Imi=log(m1)
lgdp=log(gdp)
Icpi=log(cpi)

ols1<=Im({Im1~Igdp+Icpi+r)
summary(ols1)

gdp_1=gdp[140]*1.0025
cpi_1=cpi[140]*1.0025
r_1=r[140]-0.5

sceni<~-data.frame(lgdp=log(gdp_1), Icpi=log(cpi_1), r=r_1)
predict(Im(Im1~Ilgdp+Icpi+r), scent, se.fit=T)
pred.w.clim_sceni<—predict(Im(Im1~Igdp+lcpi+r), scent, interval="confidence")
pred.w.clim_scen1

pred.w.plim_sceni<-predict(Im(iIm1~Igdp+lcpi+r), scenl, interval="prediction")
pred.w.plim_scenT

gdp_2=gdp[140]*1.006
cpi_2=cpi[140]x1.006
r_2=r[140]-0.25

scen2<-data.frame(lgdp=log(176556.9), Icpi=log(116.2), r=3.18)
predict(Im(lIm1~Igdp+Icpi+r), scen?2, se.fit=T)
pred.w.clim_scen2<-predict(Im(Im1~Ilgdp+Icpi+r), scen?2, interval="confidence")
pred.w.clim_scen2

pred.w.plim_scen2<-predict(Im(Im1~Igdp+lcpi+r), scen?2, interval="prediction")
pred.w.plim_scen?2



